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1. ey o1 fRufa o fewiee o= gl

(A) TRafeg (B) SrsHIegT C) fhas (D) ¥R®w

CSS's position property default value is .

(A) Relative (B) Absolute (C) Fixed (D) Static
2. Fofafed 3o e I8t Huaey Ricwg 2

(A) {body; color:orange;} (B) {body: color=orange;}

(C) body:color=orange; (D) body{color:orange;}

Which of the following is a correct CSS Syntax ?

(A)  {body; color:orange;} (B) {body: color=orange;}

(C)  body:color=orange; (D) body{color:orange;}

3. Uox Ufemic & fofafed & 9 o A Uiud! a5 oxiidt § o Iuarmeal aaam # et g
R ot FR TS 2
(A)  link (B) :visited (C)  :hover (D) :active
Which of the following properties of an anchor element indicates that the user is currently
clicking on an element ?
(A) link (B) :visited (C) :hover (D) :active

4. 39 1} RPN TaHcH &1 1 H Y A1 2

(A) p.all {color: grey;} (B) p.all {color: #990000;}
(C) all.p {color: #998877;} (D) p {color: grey;}
How will you make all paragraph elements 'GREY" in color ?
(A) p.all {color: grey;} (B) p.all {color: #990000;}
(C) all.p {color: #998877;} (D) p {color: grey;}

5. Ctl+0+FUSORACRCUSRA__ & faw xicdhe Hon g
(A) U B (B) ThIgdl H U A
(C) IR ¥ U &= (D) SWRIad H I P el
Ctrl + © + F is the shortcut key for in sublime text editor.
(A) Find (B) Find in the Files
(C) Findin Folder (D) None of the above

6. fordll ofd o eRe & Ty A & forw frg Hugwy uradt &1 SuanT S 1T 2

(A) TEe (B) T (C)  Sfeflg (D) XU
Which CSS property should one use to encircle an image with text?
(A) Float (B) Push (C) Align (D) wrap
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10.

11.

12.

e R U P # ford ypR & Weauy o1 yaiT fear g 2

<p style = "border:2px solid red;">

(A) THjedd diuguy (B) FexAd Hiwwuyg
(C) s diewwy (D) FTH DS T
Which type of CSS is used in the code below ?

<p style = "border:2px solid red;">

(A) External CSS (B) Internal CSS

(C) Inline CSS (D) None of these

UG ++ H A1 Ufad 1 Glide B & Y o Ricdhe oll o1 TaNT fodl SiTdl § 2
(A) Ctrl + Shift + D (B) Ctrl + Alt+ D

(C) Citrl+D (D) Alt+D

Which shortcut key is used to duplicate the current line in Notepad++ ?

(A) Ctrl + Shift + D (B) Citrl + Alt+D

(C) Citrl+D (D) Alt+D

fafeiad & @ fhgeT Tai BICRY 3H §1 3R ITH 8- B & foe fhar S g 2

(A) T (B) Y (©) T (D) Sthacy
Which of the following is used for creating and manipulating photoshop images ?
(A) Panels (B) Layers (C) Tools (D) Effects

WWW (35S d13S J9) BT AR forg- forar 2

A) fod ey (B) <. TH. BT

) feasidat (D) <\ o=

Who invented www (World Wide Web) ?

(A) Bill Gates (B) Lee. N. Feyong

(C) Tim Berners Lee (D) Tom Berners Lee

AU MW img 71 H, T18R IR0 g & 3ieR "img.png" &1 &1 1 § 2

(A) TlerHe (B) s (C) deq (D) SfToReR
In the given img tag, what "img.png" inside the double quote implies ?

(A) element (B) attribute (C) value (D) operator

TS & M TR P T¢H & 1T Blale Ache T8 ?

(A) Alt + the plus key (+) (B) Ctrl + the plus key (+)
(C) Alt+> (D) Citrl+z

What is the keyboard shortcut for increasing a document's zoom level ?
(A) Alt + the plus key (+) (B) Ctrl + the plus key (+)
(C) Alt+> (D) Citrl+z
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13. AU TS TS TR TS @ 2

(A) HIEHIEITE TS (B) T HIC

(C) HIfTel BRRWBI (D) TFTE H|
Which of the following is not a browser ?

(A) Microsoft Edge (B) Google Meet
(C) Mozilla Firefox (D) Google Chrome

14, WER Higgd & fore wel Ric s ar g 2
(A) var variable_name = angular.module("app_name", []);
(B) var variable_name =angular.modules("app_name”);
(C) var variable_name = angular.module();
(D) var variable_name = new module();
Which is the correct syntax for Angular Module ?
(A) var variable_name = angular.module("app_name", []);
(B) var variable_name =angular.modules("app_name”);
(C) var variable_name = angular.module();

(D) var variable_name = new module();

15. TIATATA 5 § 9§ § o a1 difsq wide g 2

(A) MP5 (B) WebM (C) wbr (D) I 8l
Which of the following is video format in HTML5 ?
(A) MP5 (B) WebM (C) wbr (D) None

16. AICUS ++ & el g3 Tt ISl &1 HY dg B2

(A)  WISd B -> &S fdabed (B) Td B -> Fle 3T

(C) ThTSd T -> el T (D) Ctrl+w

How to close all files open in Notepad++?

(A)  File Menu -> Close option (B) Search Menu -> Close all
(C) File Menu -> Close all (D) Ctrl+w
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17.

18.

19.

20.

21.

fFafafea § @ & T <style> T8/8 2

(A) <b> (B) <tt>

(C) <i> (D) SR gt Trgd 18
Which of the following is/are a <style> tag(s) ?

(A)  <b> (B) «<tt>

(C) «<i> (D)  All of the above are style tags

9 O 9 for fadhed &1 ST fodlt Bfd & o Tl &1 g & o fear o waar g 2

A) fie (B) U (C) e (D) T
Which of the following options can be used to remove parts of an image ?
(A) print (B) crop (C) rotate (D) resize

4 <iframes 7T &1 IUANT ford ST &, < g & ¥ &9 It faRivd Tee 1 & R Uy &
URL &1 GRYTIE $=cll § 2

(A) src (B) href (C) XIgd (D) RiLEY

Which of the following attributes defines the URL of the page to embed when the <iframe>
tag is used ?

(A) src (B) href (C) style (D) title

HEER & Ol TP Acadh I IS 8 3R Y HEL ST T USH I g
(A) ToH (B) FeThe (C) =eas (D) FomseH

are computers that connect to a network and deliver resources to other
computers.
(A) Servers (B) Mainframe (C) Network (D) Clients
TERYTY TR & IR 7 P ¥ 3 P a8 g 2

(A) il I dRE SIaER HRCT & O Tol-a18s Few

(B) USRIURM P ITANT UGIHRM ST &1 html T SieM & fore favan orar §
(C) TUIURME aleR SIS & 37eR ford o § SR {{expression})

(D) 9 g ot

Which of the following is true about AngulardS expressions ?

(A) Expressions behave in same way as ng-bind directives

(B) Expressions are used to bind application data to html
(C) Expressions are written inside double braces like {{expression}}
(D) All of these
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22. fufafad & @ oH I HYF Tafkpy # W &) gRHING ST g 2
(A) TEIGT P TH PASG GAle  (B) U 93N &l U hHeg gl @
(C) U Kt e Gl § (D) UE BT P} T AR T &

Which of the following statements define Arrays in JavaScript ?
(A) ltis an ordered list of values (B) Itis an ordered list of objects
(C) Itis an ordered list of string (D) ltis an ordered list of functions

23. ThIUe B HhY e B & ot Y 7 F g urget o1 v fbar Srar g 2

(A) Wie-Bilet  (B) Wive-Bhy (C) Wive-aRue (D) ThIUC-TIsd
Which of the following properties is used to set the face of a font ?
(A) font-family (B) font-face (C) font-variant (D) font-style

24, i AU f$g ¢ dde Wede R TR &%, "goRAA" &1 qH &Y fiie w3 2

<div ng-app="" ng-init="firstName="'dohn"">

<p>Input something in the input box:</p>

<p>Name: <input type="text" ng-model="UserName"></p>

<p>You wrote: </p>

</div>

(A) UserName (B) {{UserName}} (C) {UserName} (D) {_UserName}
Consider the below div tag content statement, how to print the value of "UserName"?

<div ng-app="" ng-init="firstName="'dohn"'>

<p>Input something in the input box:</p>

<p>Name: <input type="text" ng-model="UserName"></p>
<p>You wrote: </p>

</div>

(A)  UserName (B) {{UserName}} (C) {UserName} (D) {_UserName}

25. YMRANGd T YR & Y, B9 T HHiS U fd T TN & GH JaorH B! JHEIT BT & 2

(A) &R oo B) aRwe=

(C) ®od (D) IWIad # I Pl Aal

For generalized color correction, which command adjusts the overall combination of colors in
an image ?

(A)  The Color Balance (B) Variations

(C) Curves (D) None of the above
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26.

27.

28.

29.

WIEIRITT BT DI T BIR U A Td & o §U IGAd & ¢b Bl § 2

(A) BT B) fwufeagse

Which feature of photoshop track recent changes made to an image ?

(A) Help (B) Creative suite

PIs fhlt dcd BT BIC H ded bl g ?
(A)  f: (B) Font:

How can one change the font of an element ?

(A) f (B) Font:

THAR & Tk Alsd AT 8 2

) R

(C) History Panel

(C) Font-family:

(C) Font-family:

(A) ITT I TE @ & [oTT 37UTS ST aTel! Uil &1 FgdH TR

(B) TaR-TIsS Sel o1 ufaffda Har g

(C) ey ¥ Tufed Se1 &1 ufafafda #rar g

(D) SWIed & I PIs g
What is a Model in MVC ?

(A)  the lowest level of the pattern responsible for maintaining data

(B) represents server-side data

(C) represents data stored in a database
(D)  none of the mentioned

AT & fore g fra S § |

(A) TR T THYI o 3R DI Khid B (B)
(C) TR f&UM & ferw (D)

Marquee tag is used for
(A) To scroll piece of text or image (B)

Bld

File

Font:b

Font:b

a1 B! Il 1 fafgd A

Wi H J BIg Tel

Mark the list of items

(C) To hide the text (D) None of the above
30. TICIUHUT U $I ol Ug SR ¥ST X 2
(A) 9 TR & AHH I (B) 9§ Acad & HIHA Y
(C) A9 TSR & 1A I (D) d9 Afeey & ATegw
How to read and render an HTML page ?
(A)  Through Web server (B) Through Web network
(C) Through Web browser (D) Through Web matrix
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31. TICIUHTY T H g g

(A) 2 And! (B) <And > (C) {And} (D) #And#

HTML Tags are enclosed in .

(A) 2 And! (B) <And> (C) {And} (D) #And#
32, fobdt 1t 90T § HgeR Ried ¥ Bigd TigwR &l HET o ]

(A) TS (B) WIaifeT (C) SIREAANST (D) TR

~

File transfer from any webpage to computer system is referred to as .
(A) Uploading (B) Forwarding (C) Downloading (D) Transferring

33. WICIRIY BIsd b oTT BIsd TRICYH T g 2

(A) .psd (B) .pds (C) .photo (D) .phsd
What is the file extension for a Photoshop file ?
(A) .psd (B) .pds (C) .photo (D) .phsd

34. dwguy U Urudt o1 IuanT fpg Iexg & fore fear Srar g 2

(A) TSR (B) W
(C) By (D) IS
For what purpose is the CSS padding property used ?
(A) Border (B) Space
(C) Background Color (D) Margin
35. T {1 YUl & W1 b1 4uit o8 a8 wafRid o file a1 wbar 8 a8 g
(A)  feufe B) fame
(C) HRASH (D) SWRIad H I P Tal
A color system's range of colors that it can display or print is
(A) Dithering (B) The Gamut
(C) Color Model (D) None of the above

36. Fgfifad & ¥ oiF HTHTY BT IUTNT HIb THHT BT IHT T8l 8 ?

(A) T (B) Te-WRT (C) TRe-gNmIH (D) fasy
Which of the following is not possible to animate using CSS?
(A) Padding (B) Word-spacing (C) Text-transform (D) Width
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37.

38.

39.

40.

SO TR 3T AT fore & o forer gt o1 SuaT faar ST & 2

(A) TNBHEE  (B) FTgd (C) TFA (D) WA
Which tool is used to write your name on an image ?

(A) Transformtool (B) Draw tool (C) Texttool (D) Sketch tool
BEEE IR R

A) TR e TRl P T e TR F fEaey & R e $37 BT a3 |

(B) UITHUH U 3THaET $ B! Hee I 99 URIBIH B! VMY TV ¥R H Johdl g

(C) WITHTE &1 ITUNT HIP gH 3Hhals Jauge @ Jbd 8| Y JadZe & dof AT
3R JER T Ue=H &I Hf gHfd Fxar g

(D) JWRIad T

Which of the following is correct ?

(A) Style sheets allow content to be optimized for more than one type of device.

(B) CSS can store web applications locally with the help of an offline cache.

(C) Using CSS, we can view offline websites. The cache also ensures faster loading and

better overall performance of the website.
(D) All of the above.

TICITAd Hersel M B A fra e A AN © 2

(A) <Head> (B) <body> (C) <title> (D) <p>
HTML metadata is present in which of the following tags ?

(A) <Head> (B) <body> (C) <title> (D) <p>

ARP AW P 1Y HTH HId JHY, Th He a1a THE & g, g & "gem iR "siea & fag
P IUBUT BT IUTNT f a1 STl § 2
(A) R @ (B) Uc &I (C) Ucqdhe (D) AR Td

When working with a Mask Layer, for an erasing effect, what tool is used to "take away" and
"add" to the picture ?

(A) Selection Tool (B) Paint Brush (C) Paint Bucket (D) Lasso Tool
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41,

42.

43.

44.

fafafed STafspy @ &1 3¥eye || 2

<script>

var a;

document.getElementByld("demo").innerHTML = a+1;

</script>

(A) O (B) undefined c 1 (D) NaN
What is the output of the following JavaScript code ?

<script>

var a;

document.getElementByld("demo").innerHTML = a+1;

</script>

(A) 0 (B) undefined c) 1 (D) NaN
fofafea o 9 f5a g T A omar g

A) T faurH (B) Sdbc AR

(C) Ticew & Taat (D) SR\ T g

Which one of the following is not considered as an error :

(A) Division by zero (B) Missing of Bracket

(C) Syntax error (D) Missing of semicolons

Ctrl + § + P J9a3H ce TSR | DI WieH &1 Yiche poll ¢ |
(A) 99 FFoR (B) ®HIS UiY

(C) IZd &I A I u-\ra (D) <N UI38aR

Ctrl + ©+ + P is the shortcut key to open in sublime text editor.
(A)  Web Browser (B) Command Prompt

(C) Quick-open files by name (D) Toggle sidebar
fraffed & Ao TR FuT TR 2

(A) U IS ud F IR d15ed (AT 32 9eg) a1 &, s & yds 0 ¥ 255 do T & &
Hohdl gl

(B) AT T B T HoM & g, Fger &1 RSy te et udr sawasw g

(C) Ud® SR & forg SIS uar gU=M 37 BT g |

D) It TE g

Which of the following statements is/are correct ?

(A) An IP address consists of four bytes (or 32 bits) each of which can be a number from
0 to 255.

(B) For browsing or sending an email, an IP address assigned to the computer is required.

(C) IP address is always unique for each computer.

(D) All are correct.
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45.

46.

47.

48.

49.

fafafed ¥ ¥ &H U6 Aead W HINE TAS HHR gRT IR0 fHT o ard fomt & Ie &t
TR PRaT g 2
(A) d§ (B) T (C) SHA (D) WicidId

Which of the following defines the set of rules that are followed by each computer present on
a network ?
(A) Web (B) HTTP (C) Domain (D) Protocol

fFofad 7 A f5T BEd UeR A TRACS 81 &1 AT T8l § 2

(A) .PNG (B) .PSD

(C) .GIF (D) IWIad # Y PIg Tal
Which of the following file types does not have the ability to be animated ?
(A) .PNG (B) .PSD

(C) .GIF (D) None of the above

qﬁ@ﬁw%%ﬂparamsw DOM &T@ae%,a‘rﬁwﬁéwﬁwﬁéﬁm
frafifea & @ oF o gt Rt R 2

(A) params.value = “Updated Text”;

(B) params.content="Updated Text”

(C) params.nodeValue = “Updated Text”;

(D) params.firstChlid.nodeValue = “Updated Text”;

If params is a DOM object for a paragraph, which of the following is a correct syntax to
change the text in the paragraph ?

(A) params.value = “Updated Text”;

(B) params.content="Updated Text”

(C) params.nodeValue = “Updated Text”;

(D) params.firstChlid.nodeValue = “Updated Text”;

7 & ¥ 31 1 A fodht ) wid &1 SughT e Y g T 2

(A) ng-app (B) ng-form (C) ng-controller (D) ng-bind
Which of the following directives allows one to use form ?
(A) ng-app (B) ng-form (C) ng-controller (D) ng-bind

AT TICITHTS STa9l H §Tg<) SaIpy HISd &l dhid hId & [t gt Rice H I7g 2

(A) <script src="test.js"></script> (B) <script href="test.js"></script>

(C) <import src="test.js"></import> (D) <script link="test.js"></script>

Which is the correct syntax to call an external JavaScript file in the current HTML document ?
(A) <script src=" test.js"></script> (B) <script href="test.js"></script>

(C) <import src="test.js"></import> (D) <script link=" test.js"></script>
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50.

51.

52.

53.

FERIRT ¥ Q SH-T1/R 15T U $T 3o 878 2

. TIRURCRT &HATY ST

Il. XISl DI FGMT

. el gxarael & deal &1 aRHTd & & forg

(A) PHad | (B) 13RIl (C) wHadlll (D) I, 13RIl

Which of the following is/are the purpose of markup language ?

l. Add hypertext capabilities

Il. Enhance the document

lll.  To define elements within a document.

(A) Only | (B) landll (C) Only (D) I, lland NI

DI T Y TAIEHY B var 3R let Blas & d1d el 3R FAfET dxarg 2

(A)  var T INTITS BT GRHINT BT 8 Tafd let Th RIS B! aRHIT Har g |

(B) S dId BIs TST R g &

(C) var & T1Y NG INTSTA &1 I Tt S hdl & Taid let & T Af¥d aRTad &1 A
S dl el S Tha B

(D) var R WHIE IRTTA oI TRUIIYT HaT 8 Taf let T WhIE IRTIA oI aRuTfdd
CEGE

Which statement specify correct difference between var and let keywords in JavaScript ?

(A) var defines a variable while let defines a constant.

(B) There is no such major difference between them.

(C) The value of a variable declared with var can be changed while the value of a variable

declared with let cannot be changed.
(D) var defined function scoped variable while let define block scoped variable.

$oxC U e & e e o 9 a1 S1avass © 2

(A) Zcc Sfdhcaar dre (B) ScxHc AN

(C) Scxc Jdl Uerdl (D) AT HHYR
Which of the following is required for joining the internet ?

(A) Internet architecture board (B) Internet society
(C) Internet service provider (D) Different computer

o YUy BIsd A TehlYe arg- e od affifed &3 2

(A) // statement (B) ‘statement
(C) /* statement */ (D) // statement //
How to insert multiple line comments in a CSS file ?
(A) //statement (B) ‘statement
(C) [/* statement */ (D) // statement //
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54.

55.

56.

57.

58.

D9 It css MUl a8 @0 &1 T Heg Hdl § b S &I faqu fsar o =iy, o fofg

(fIfRr) farany, o1 v eeH & ueRiqg &% 2
(A) CRC-SHRIA (B) HREKD
(C) TR (D) Coe-3fIavua

Which CSS property helps one to decide whether the text should be clipped, show some

dots (ellipsis), or display a custom string ?

(A) Text-decoration (B) Text-stroke

(C) Text-shadow (D) Text-overflow

TISITHTS | 3SR BI 718 et - & fod g T § frsenT SuanT farar S g 2
(A)  <ul> (B) <ol> (C) <pl> (D) <hl>
Which of the following is used to create an ordered list in HTML?

(A)  <ul> (B) <ol> (C) <pl> (D) <hl>
HTTP_  ®IUiwUg:

(A) BISUR (R TR WTdbld

(B) BISWR CRAMR ¢Re YISl

(C) BRWR TR CMARH Uleidbia

(D) BRWR THMHTH ¢Re Uleidhia
HTTP stands for .

(A) Hyper Text Transfer Protocol

(B) Hyper Trasfer Text Protocol

(C) Hyper Text Transmission Protocol
(D) Hyper Transmission Text Protocol

2 fou U Heguy ol 9, Tae @1 dis s & o Mg § @ feget Sudiv fear Srar g 2

(A) Text-align: bold (B) Font-style: bold

(C) Font-weight: bold (D) Text-decoration: bold
From the below mentioned CSS properties, which of the following is used to make the text
bold?

(A) Text-align: bold (B) Font-style: bold

(C) Font-weight: bold (D) Text-decoration: bold
fafafed & 9 &F 16 Arsy 3de 6l § 2

(A)  3fffdrep (B) SHTHRSHEIR

(C) TSR (D) AHFHIESHHI

Which of the following is not a mouse event ?

(A) onclick (B) onmousescroller

(C) onmouseover (D) onmousemove
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59. I I TI-IhHdI U (IS AR F YR TR dcd! BT T BT § 2
(A) TONIH IgaHdl (B) B Tl
(C) U dd IgdHdl (D) foRiwdr ggar
Which selector selects elements based on a certain state ?

(A) Combinator selector (B) Pseudo Class selector
(C) Pseudo elements selector (D) Attribute selector

60. FHffEd # 9 HH T de tfeer T & 2

(A) Ue (B) WwTEH

(C) HIcUS++ (D) fagerd ¥fedl dre
Which of the following is not a text editor ?

(A) Paint (B) Sublime

(C) Notepad++ (D) Visual Studio Code

61. UITHUY WA T HIS BT SUUNT B, JH STSURIHT T SSIATS Dl Y gl ol hdl g ?

(A) a {text-decoration: no-underline;}

(B) a {text: no-underline;}

(C) a {text-decoration:none;}

(D) a {text-style: no-underline;}

By using CSS style or code, how can one remove the underline from all hyperlinks ?
(A) a {text-decoration: no-underline;}

(B) a {text: no-underline;}
(C) a {text-decoration:none;}
(D) a {text-style: no-underline;}

62. OATRHY H “WhTs 3o & fora o1 Ug! Rica g :

(A) jscript.write(“Sky is blue”) (B) document.write(“Sky is blue”)
(C)  print(“Sky is blue”) (D) jscript.print(“Sky is blue”)
The correct syntax to write “Sky is blue” in JavaScript is :

(A) jscript.write(“Sky is blue”) (B) document.write(“Sky is blue”)
(C) print(“Sky is blue”) (D) jscript.print(“Sky is blue”)
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63. FHfRId SAEpY HIS BT 3M3TYe HT BRI 2
<p id="demo"></p>
<script>
var js = 10;
js *=5;
document.getElementByld("demo").innerHTML = js;
</script>
(A) 10 (B) 15 C 5 (D) 50
What will be the output of the following JavaScript code ?
<p id="demo"></p>
<script>
varjs =10;
js *=5;
document.getElementByld("demo").innerHTML = js;
</script>
(A) 10 (B) 15 (C 5 (D) 50

64. THdl BfA & IRI 3R TATaT Sics diex o o Y [ Jeaey fa=ivdT (faRivdrst) &1 IuamT
AT T8 2

. Slex-aRd

Il Slex-erRd

Nl.  SleI-HWR

(A) | B) 1 (C) (D) 1 3R 11 gAY
Which CSS attribute(s) should one use to create a pink dotted border around an image?
l. border-line

[l.  border-style
[ll.  border-color
(A) | (B) () (D) Both Il and lll

65. fAmfcrRad ama o o g 2
h1 {color: red text-decoration: underline; font-style: italic;}
(A) color: red, text-decoration: underline and font-style: italic all works
(B) text-decoration: underline and font-style: italic works
(C) color: red, text-decoration: underline works
(D) only font-style: italic works
What will happen in the following case ?
h1 {color: red text-decoration: underline; font-style: italic;}
(A) color: red, text-decoration: underline and font-style: italic all works
(B) text-decoration: underline and font-style: italic works
(C) color: red, text-decoration: underline works
(D) only font-style: italic works

66. Hfead & ¥ &1 T Arb 3 HINT SGML W 3eiRd § 2

(A)  VHML (B) XML (C) CFML (D) SML
Which of the following markup languages are based on SGML ?
(A)  VHML (B) XML (C) CFML (D) SML
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67.

68.

69.

oy & 39 o & e Feffia Ay s e 2

(A) TH RSy Ia &1 iram &%

(B) Wfehy foics &1 g 3

) It T\ MY ik BT 99 B & o I fopan S @

(D) Tl dca @t fad T ) aRHIRE = 3 forg Sz favan S @

Which of the following is true for pseudo class in CSS ?
(A) Match A Specified Element

(B) Select The Active Links

(C) Are Used to Select All the Visited Links

(D) Are Used to Define a Special State of An Element

FodIewugie?

) R T BT IUGRT A A P o foban o &

) Tl 7, 3SR Id fSWiee TU I Ffgd a1 7 3R SeT It aT8 3iR-IRJd 81d B
) ST 9 991 & AU <TR> BT IUaNT foha ST §

) 3G ST H HH Y HH 4 Tege g1 a1fey

Which of the following is true ?
(A) BRtagis used to have a blank line

(A
(B
(C
(D

(B) Intables, the header cell is centered by default and the data cells are right-aligned

(C) The <TR> is used to create a data cell

(D) INPUT tag must have at least 4 attributes

frafaRed & 4 9 WA $UT 9 878 2

. 39 fSOIER &I Pad FWI & aR H 1 6] dfep IUUNTDT Sex%bE b IR H +f fferd
GRIELEY

I 39 ferea & Sudifiar agd Aeayui &

(A) Had | (B) ohad II

(C) 13RI gHt (D) SWRIigd H Y P g

Which of the following statement(s) is/are true ?
l. The web designer shouldn’t just be concerned about the looks but also about user

interface
[l.  Usability is very important in web design
(A) Only | (B) Only Il
(C) Bothland Il (D) None of the above
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70.

71.

72.

73.

74.

aTe wTsd Tie I Haftid 3 & forg Ifd gadivaud Ricra e 2
(A) <style src="demostyle.css™>

(B) <stylesheet>demostyle.css</stylesheet/>

(C) <link rel = “stylesheet” type= “text/css” href= “demostyle.css™>
(D) STHIDK LI

What is the proper html syntax for referencing an external style sheet ?
(A) <style src="demostyle.css”>

(B) <stylesheet>demostyle.css</stylesheet/>

(C) <link rel = “stylesheet” type= “text/css” href= “demostyle.css™>
(D) None of these

fofafea & 9 o9 91 TeUeE 98t g 2

(A) {expression} (B) [{expression}] (C) _expression (D) {{ expression }}
Which of the following expressions is true ?

(A) {expression} (B) [{expression}] (C) _expression (D) {{ expression }}

gy & g8 gRighd & i & & g wel fiee 2 -
(A) h1 {background-loop: none; }

(B) h1 {background-repeat: none; }

(C) h1 {background-iterate: none; }

(D) SWIed & I PIs g

To control image repetition in CSS , the correct option is :
(A) h1 {background-loop: none; }

(B) h1 {background-repeat: none; }

(C) h1 {background-iterate: none; }

(D) None of the above

fFafafaa § I HTML B &1 31 21 998 931 2f$T STem & fore v fpar siar g 2

(A) <h3> (B) <h1> (C) <h6> (D) <h2>
Which of the following tag is used for inserting the largest heading in HTML ?
(A) <h3> (B) <h1> (C) <h6> (D) <h2>

frafafea & 9 foraeT Sudi te fafiy faw & ar &=A & fore far Sman g ok 39 divgey
A ot it aRigs =8t fvar o gpar g 2

(A) @important (B) limportant! (C) limportant (D) important!
Which of the following is used to apply a specific rule and can never be overridden in CSS ?
(A) @important (B) limportant! (C) limportant (D)  important!
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75.

76.

77.

78.

79.

80.

81.

Frafafea 4 3 iy Stea (Seed) & o Srarfepe @ fSure fbarman g 2
(A)  TEIUHTS U8 B TIgd A & forg

(B) ToR-UTss fEpfP fuveM & & fau

(C) TR R S A Feiftrd & FAwifed v & fow

(D) TIdTqud gsl ¥ f=R-fehamRiierdr s & forw

For which of the following purpose(s) JavaScript is designed for ?

(A) To style HTML Pages

(B) To perform server-side scripting operation

(C) To execute query related to DB on server

(D) To add interactivity to HTML Pages

DI I doguy uod! ofd @) wyd &1 Ry s g 2

(A)  Sflava (B) TR (C) TRk (D) iR
Which CSS Property specifies the clarity of the image ?

(A) Overlay (B) Clearfix (C) Clarity (D) Opacity
Fraferfed & 9 HH exe IR ¥ $9H BT IR0 & 2 .

(A) THUY Y (B) T[IA (C) Sifd (D) fdsia
Which of the following is an example of a search engine on the internet ?

(A) MS Office (B) Google (C) Gmail (D)  Windows
Teguy H “color:black” &1 FEUH TGS

A) 9 B) fEHi®H C) RdaeR (D) Fm
The “color:black” in CSS syntax is known as .

(A) Value (B) Declaration (C) Selector (D) Rule
fopdt uferdie & Wiz &1 uRUIRNT B3 o T fohy Heauy Jadex o1 I foar s 2
(A) MEX)] (B) oI (C) <Re (D) H9H
Which CSS selector will be used to define a single element's style ?

(A) Id (B) Class (C) Text (D) Name

fafafad oM ¥, .4s T quA HRAT B 2

transition: color .4s linear;

(A) FS-TRT (B) ufem (C) oafy (D) Wl
In the following transition, what does .4s describe ?

transition: color .4s linear;

(A) Word-spacing (B) Padding (C) Duration (D) Property
TRV TS @l

(A) TIAUHT hHAd (B) .Net THa®

(C) SIAI&hY ThHAD (D) 3iR&d HHTD

AngulardS is a .

(A)  HTML Framework (B) .Net Framework

(C) JavaScript framework (D) Oracle Framework
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g2. FufofRdd A HH T HIe gad Hriam g 2

Code 1;
for(var number=10;number>=1;number--)

{

document.writeln(number);

}

Code 2 ;
var number=10;
while(number>=1)

{

document.writeln(number);

number++;

}

(A) IS 1 (B) ®dIg2

(C) PIS13IRBIS 2 Al (D) O T8 B Thal

Which of the following code is most efficient ?

Code 1;

for(var number=10;number>=1;number--)

{

document.writeln(number);

}

Code 2 ;

var number=10;

while(number>=1)

{

document.writeln(number);

number++;

}

(A) Code 1 (B) Code?2

(C) Both Code 1 and Code 2 (D) Cannot Compare
83. WIEROITY & U&h Higyd 1§ ?

(A) THIURH (B) UwHdHRHA

() tufede (D) IWRIad H Y PIg el

What is a module in AngulardS ?

(A) expression (B) application

(C) element (D) none of the above
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84. d9 W BT BT A Reilege FT B 2

(A) 72 PPI (B) 300 PPI (C) 256 PPI (D) 172 PPI
What is the standard resolution of images on the web ?
(A) 72 PPI (B) 300 PPI (C) 256 PPI (D) 172 PPI

85. dIc! IPUTSS T P U fohy fa=Iwdr o1 Uz fobar Sira § 2

(A) diefieer (B) SHUSS

(C) o &P HR (D) IWigd Y P Tal
Which attribute is used for body background color ?

(A) bgcolor (B) background

(C) back color (D) None of the above

86. g PIs & e d Mufaad 7 Qo9 a1 i Taa g 2

(A) 200 OK (B) 3044 BI¥S
(C) 400 9 & (D) 301 o8 WA
Which of the following options is incorrect with reference to status codes ?
(A) 200 OK (B) 304 Not Found
(C) 400 Bad Request (D) 301 Moved Permanently
87. RSP Tae & g SUAIT 3T oM a1aT Taeiequd o7l g |
(A) <sup> (B) <superscript>
(C) <s> (D) <superscripted>
is the HTML tag used for superscript text.
(A) <sup> (B) <superscript>
(C) <s> (D) <superscripted>
88. dIuuuy H, Ydaey HT ITANT I Il BT I9 HRA & o fopam S g forg o
TIEd H3AT A8 ]
(A)  FAEY B) U (C) e (D) R
In CSS, selectors are used to select the elements you want to style.
(A) Classes (B) Patterns (C) Properties (D) Functions
89. U TICITATA 5 SEITAW P ol U fSaive g
(A) <!DOCTYPE htmi> (B) </DOCTYPE htmi>
(C) <DOCTYPE htmi> (D) <DOCTYPE html!>
is a declaration for an HTML5 document.
(A) <!DOCTYPE htmi> (B) </DOCTYPE html>
(C) <DOCTYPE htmi> (D) <DOCTYPE html!>
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90.

1.

92.

93.

94.

95.

Hreguy Riceq ot Y H ST T | |

A)  RddeR 3R fEaeem (B) W am 3R g,

(C) R AR TZd (D) T4 I HIS T8l

CSS syntax is divided into parts.

(A) Selector and Declaration (B) Property name and value

(C) Color and style (D) None of these

B fead & T I TaadR TP 30 &1 ©U Jeadl 5|

(A)  PITTT B) e (C) AT (D) et
Image is changing the appearance of an image by altering the colors of the
pixels.

(A) cropping (B) filtering (C) blurring (D) rotating
fafaRed & 9 »1H dafde & o css TauceH Hiftha § 2

(A) -webkit (B) -o- (C) -web (D) -chrome
Which of the following is the CSS Extension Prefixes for Webkit ?

(A) -webkit (B) -o- (C) -web (D) -chrome

W3.CSS U AM® Cssg forgd:

(A)  jQuery AZSA I (B) IATpY WSS

(C) (A) 3R (B) a1 I B (D) (A) 3R (B) 3 3 g

W3.CSS is a standard CSS that has :

(A) jQuery library. (B) JavaScript library.

(C) Both (A) and (B) are true. (D) Both (A) and (B) are false.

39 FATEC 99 U a1 P for fohy TR 7 SUENT vl © 2

(A) 9 TSR (B) UlE®id (C) 9§ IR (D) T oM
Which program is used by web clients to view the web pages ?

(A) Webbrowser (B) Protocol (C) Web Server (D) Search engines
HUITH BT IUGNT HRP e, W Sy HA & fog Fufafad & o9 § adis a g2
l. #FFFFFF

. rgb (255, 255, 255)
l.  rgb (FF, FF, FF)

(A)  Had| (B) FHad Il (C) 18iRMIA (D) 13RI
Which of the following ways are valid to specify white color using CSS ?
. #FFFFFF

. rgb (255, 255, 255)
l.  rgb (FF, FF, FF)
(A) Only| (B) Only Ill (C) Bothlandlll (D) Bothland Il
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96. STIC P I ®I SAYRIN I §3 ]

(A) HRHNIG (B) 3RUMC (C) dd (D) 3MTE&EH
The internet originated from the concept of :
(A) Microsoft (B) ARPANET (C) Web (D) IBM

97. J9 UBIYH Hi MIHdl & foru Fuffead # 9 o9 e I8 § 2

(A) 3T HARH (B) dd SadUHc Ated?

(C) AT TR (D) SR T

Which of the following is the correct option for the requirement of web publishing ?
(A) Internet Connection (B) Web development software

(C) Web Server (D) All of the above

98. e gH Fufafad & aRuaw &1 Siied € I fhd UHR &1 AF gfad giaT g 2
vara="10"var b = 50;
(A) @ (B) <Fe (C) sfRwR (D) He
What type of value gets printed if we add the following two variables ?
vara="10",var b = 50;
(A) Long (B) Text (C) Integer (D)  Number

99. W3.CSS MU AA B It Tk o0y MaRs -8l parg |

(A)  w3-border-top (B) wa3-border-right
(C) w3-border-bottom (D)  wa3-border-gutter
W3.CSS does not provides the following border class.

(A)  w3-border-top (B) wa3-border-right
(C) w3-border-bottom (D)  wa3-border-gutter

100. DI At Hvgwy Uit Ry e 8 1 HA v difsw, a1 v o3 &) I Il siag | fbe
B & U SR fear Srar & 2

(A) TR B) dffside-RUfd  (C) Sffsideflhe (D) TTH AP el

Which CSS property specifies how a video, or an image is resized to fit its content box ?

(A) Position (B) Object-position (C) Object-fit (D) None of these
-o00o-
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